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SiDleyemry : (1)  imansg NRTESHEBHL sflwurs 2éa0 ufeundl Q_wmgn :.r.rei:nu‘.g,sma?v
sflurisg s Qsreararab. HFsLLS 6N D Geoull(hUblen mmé
samsreivurerfiL e Languwins Ggfelssayn.

) fow owg s@BUY owvwlamea wLEBGGWL TWHMSDGW
2R &CHTy HeugnGL Uweuhiss CauamHin. ULMEE cuenfeusmnd
Quenéled LWETLHSSGYLD.

Instructions : (1) Check the question paper for fairness of printing. If there is anv lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@HlILy : Qeusllargsrar mreing ANeysmars QsmraTLg).

Note : This question paper contains four sections.

1Sifley - I/SECTION - 1
(wHuQuarrsar : 15)/ (Marks - 15)

GOOY : () @UGfelé o drer 15 eﬁ]mn.ﬁs%é@m ellenLweflgsayw 15x1=15
(ii) gﬂa;rr@é;a;u*uﬁg@.siirm AL wrom e safledr Wseyn sMwmear
wooup CaThts0ss @RS GLsr efoLu@manyn Caigg)
ST(p&HaLD.

Note : (i) Answer all the 15 yuestions,

(i}  Choose the correct

answer from th i c 1 '
+ AR AL - R - . .1 .
option code and th gwven four altematives and write the

¢ corresponding answor.
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(-@-l}lf—'l’ (..-_%)1’( xr—1
E\T meplt for ® function which s not a W.'latmn (Domain, - 1%‘] Codomain - R) is
2 y=x ) y=x-1 ‘
(€) y=a° (d) not possible
a, b, c e g QupsEs Ggri cuflensuler o areren crafled, fl'}_ b _
- c

(1) 2 (=) 2 =

c b (@) b (/) —
If a, b, ¢ are in G.P,, then ?)H b is equal to :

- C

a a C b
@ = ® 3 © % @ =
Qar@ssuucL auflesflar 2068 e miy V3, V12, V37, .. .
(=4) V39 (<) V32 (8) V54 (/) V48
The next term of the series /3, 12, V27, ...is
(@) V39 (b) 32 (© 54 (d) 48

Q@ 4 Uy vonULE Gareeuamw m FHNUY vagInuys Caremeuwre
wGEGWw Gurg AeLéEw Bl afsuls Uy

(=) 2 (=)0 (@) 4 (/) 1

What can be the degree of the remainder atmost, when a fourth degree polynomial is

divided by a quadratic polynomial ?
2 2 () 0 © 4 (@ 1

B—a® whmb (v -a) S weundlen 8.GQumr.wp.
(<21 (x—a)? (x% +ax+a’) () (x*~a%) (x+a)

(@) (x +a)* (r'- +ax+a’) () (F-ad) (x—a)?

The L.C.M. of x*—a’ and (x—a)? is :
() (r-—a)2 x2+ax +a%)
(c) (v+« 1)° (x> +ax+a 2) (d) (x*-

(b) (\1* ) (x+a)
') (x—a)*



3 7973

6. A={“ B]mg’;gm,&zﬂmaﬂé}.

Y -«
(c-gﬂ} I_QE_BT:“ (Q%)]+(12+ﬁj-_:u
(8) 1+a2-By=0 () 1-o?+By=0
If :\:[ﬂ B}is such that A2=1, then :
Y -
(@) 1-?-By=0 (b) T+a2+By=0
(€) 1+a?=py=0 (d) 1-a*+By=0

7. (=26), (4 8) odu ydasea Gmarsen CrisCan yhEs enGssra
CrrsCargen smiey :

(@) -3 (%)% (&) 71; (m) 3

Slope of the straight line which is perpendicular to the straight line joining the points
(—2,6)and (4, 8) is equal to :

1
@ -3 ® 3 © -3 (@) 3

8. @@ el Lgden @wwd (-6, 4). @@ SLLsSlen @ pear (-12, 8) erafla.
DISE DM(LPEOE
(21) (-3.2) () (-18,12) (&) 0.0 (/) (=9, 6)

The centre of a circle is (— 6, 4). If one end of the diameter of the circle is at (- 12, 8)
then the other end is at :

@ (~3.2 (b) (-18,12) () (0,0 (d) (=9 6)

9. Qrav® awyQearss wsCarammsefian uglueameaysear weanGw 16 Q.82
36 Qe 82 wse wasGarangsdar @smHwrbd 3 Qs 8. aafler, wHG@prm
Ww&Caramsde JFHE 55 GSHWTD |
(1) 4 Q&5 () 6.5 Q.15 (E) 4.5 Qs.\b. () 6Qs.8.

The areas of two similar triangles are 16 cm? and 36 cm? respectively. [f the altitude of
the first triangle is 3 cm, then the corresponding altitude of the other triangle is

(a) 4cm (b) 65 cm () 45c¢m (d) 6cm

[ Hmuys / Turn over
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10.

11.

12.

13.

14.

4

12 8. povgpeten Cpirégggran @58, 8 S Bergparen flp@es senyule
gHusEHNE. 2Cs Crrsdw ¢m Camyybd 40 8. Benqperen Blipeneu senTusic;
FOUGEHEDG aafier, Camyysden 2 WD

(24) 75 . (<) 40 8. (@) 608 () 508

If a vertical stick 12 m long casts a shadow 8 m long on the ground and at the same
time a tower casts a shadow 40 m long on the ground, then the height of the tower s .
(@ 75m (b) 40m (c) 60m (d) 50 m

(1+ C“tze} (1 =cos8) (1+cosb)=

(1) sec?d - tan?0 (<34,) tan?0 — sec?6
(@) cos?8 ~sin’8 (/F) sin%0 —cos?B
(1 +cot®8) (1—cos@) (1 +cos) =

(a) sec8—tan®d (b) tan?8 —sec®y
(¢) cos?—sin%6 (d) sin% - cos?¢

ABC eranp QeruGaren pé&Garamgdler LB=90°, LA @ Gnratsraw afla
sinA + cosA -&r WAL :

() <1 ()1

(@) 2 () >1

If A is an acute angle of a AABC, right angled at B, then the value of sinA +cosA is
(a) less than one (b) equal to one

() equal to two (d) greater than one

& ChiTau_ L& sndy wHmb GCrieul L o menerulflen =y rapb 2 wryw weonGw
Fwb. 2 (Heerlen sarsierey 120 Gg.15° erafier, sblen sansearey
(<=1) 40 Q&5 (=) 1200 Qs. 53 (@) 90 Qs.5 3 (/) 360 Qg5 ?

Radius and height of a right circular cone and that of a right circular cylinder are

respectively, equal. If the volume of the cylinder is 120 cm?, then the volume of the
cone is equal to :

(a) 40 cm?® (b) 1200 cm? (€) 90 cm? (d) 360 cm?
euyiisaflan Qgr@uy gadler Sl llwssn 2/2. flagera @aGounm
Uy 3 - uBEss et s uHu eflaurs Asrguar HLefassd
(21) 642 (<) V12 (@) o2 (m) 42

Standard devigtion of a collection of datais 2/2 . 1f each value is multiplied by 3. then
the standard deviation of the new data 1s -

@) 642 by 12 (©) 92 W) 43



20 Gur@Lsaflev. 6 AurmLsar G@purBHeLweey. swe rLLy wepude 6

15.
Qurmer CarpRsR&ELEUTE, BiG G@DWONET6E Ao Lugnsre
Hapssa, .
3 7 2
(1) 75 () 1o (&) 3 () 0
There are 6 defective items in a sample of 20 items. One item is drawn at random. The
probability that it is a non-defective item is :
: 7 2
(2) m (b) 10 (c) 3 (d) 0
9fley - 11/SECTION - II
(wuCuarser : 20) / (Marks : 20)
GOluY : () usgs NamssErsE el wallsseyb. 10x2=20

Marr eraw 30 -&@ SWKRUUTS alenLwell§sajb. WPpsHe
14 eflamrssefles @QmHg TCseID 9 lamésmens Cairay QewsweyLb.

Note : (i) Answer 10 questions.
Question number 30 is compulsory. Select any 9 questions from the first

14 questions.
A={a, b,c}, B={1, {a b, c}, 2} & @ sewmmseailer A c B eratuens sflunrss.
Sieueurn Qeoamatwalld 2 arg ellenLanw Hlepésey.
Verify A c B for the sets A={a, b, ¢}, B={1, {a, b, ¢}, 2}. If not justify your answer.

16.

17. A={-2, -1,1,2] wpmw f = { (x, %) IX € A} craflev, f -6 eiFFEEDEE STHTS.

Gugyid feramugl A -WmHE A -6@& @@ eriung@or ?
If A={-2, ~-1,1,2} and f= { [x, %) (X € A],write down the range of f. Is fa

function from A to A ?

epeny cramsatlen eNldlGD 2:5: 7 eTens. (PH@OMLD 6Teir, @rawi_mib cravwremfladl(m by
7 -6 sflggl uPUU@BL erarr LML PPSTHILD TR Sl g sl (HS
Ggrii euflengers gHuBsSlane, SeuCeuarsmens srams.

l'hree numbers are in the ratio 2: 5: 7. If the first number, the resulting number on
subtraction of 7 from the second number and the third number form an arithmetic

sequence, then find the numbers.

18.

| Hmys / Turn over
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19.

20.

21.

22.

23.

24,

6

voginuus Catmade wessw ugwopuldauy wESS (x+2); ray (- 1)
wYNWL B 4 Ysayd emwLLLTETE SBHGEMWL uGU@ LWL UMty é
Carencuens srems,

In thg division algorithm of polynomials the divisor is (x +2), quotient is (x —1) and the
remainder is 4. Find the dividend.

30 e muser QaranL iafléE reueuans auflanssear QMHés QuUaIn ?
A matrix consists of 30 elements. What are the possible orders it can have ?

32 -
Ar [4 0} oPYIo B = (: 2] aaflé AB g BA élueupens srars.

[

3 2
If A= and B= >0 then find AB and BA.
4 0 3 2

A(-3,5) whmbd B@#, -9) dwu yaraflsemer Qaans@w GCar (s gamaL
P(—2, 3) erenip yerefl 2 ymwrs orhs Qg GAfls@n ?

In what ratio does the point P(—2, 3) divide the line segment joining the points
A(—3, 5) and B(4, —9) internally ?

gmiuiey % wHmw (3, -4) erap yarafl afld Geogn CrisGamiyen

FLATUTLNLS SIS

2
Find the equation of the straight line whose slope is 3 and passing through (5, —4).

Qemaumid efeurEISEGEE 5GBS ULD euars.

om Garyrsden 2. s8flenan, et Caryrsdinbg 87.6 8. 175w samruie
o crar g samarmguid urisSpnt. saranmg Guoe Ceréfueury 2 drarg.
yeurr samanmguimbg 04 5. grsdaib, seufldn deflaal urreameud
Gairi_ig.6i LD, ganmQelmpg 1.5 5. 2 wrsdain 2 erarg). (wallgaflen oig.
SHETERTTy. WDHMILD Ganyrsdlen g spdluemes @Gy CrraGariiyd o dreren)
Draw Lthe diagram for the given information.

A man sees the top of a tower in a mir.ror which is at a dista:llcu of 87.6 m. from the
The mirror 1s on the ground, facing upward. The man is 0.4 m. away from the

wnd the distance of his eye level from the ground is 1.5 m. (The foot of man, the
the foot of the tower lie along a straight line)

{OWOT.
mirror,
mirror and



26.

27.

28.

29,

30.

7 7973

: . . . Lo e . .
0° = 0 = 907 eTatTm 8 -6l GleveLr mﬁuq&;@a}@m Cos~0 +sin<f = GTELIGNS, S
Q’)@Gﬁ]&&b‘!{m.

Derive the identity cos?8 +sin?0 =1 for all 8 such that 0° = # = 90,

secB(1 — sinb) (sech +tand) =1 eramm (WPHGmmmepwerw Hlmieys.
Prove the identity sect(l —sin8) (sect + tant) = 1.

21 Q.18 syrparen b el LgHladlmbg 120° @wwsGarann AaramL g
L &Gy ugdow el ytuiss. s Hrusmea gatlaarss,

P SabuTsFlanmed. HeLG@GW FaldIGeh eueneTUTUMUS &Taws (11' = -2—2J

\ 7
A sector containing an angle of 120° is cut off from a circle of radius 21 cm and folded
. : L _ 22"
into a cone. Find the curved surface area of the cone. = —?-J

20, 14, 16, 30, 21 wHMYW 25 PHw yeef] eflourrusseneE L eSevdsd srem
Goeameuwimean L auanemment WL (HID BennsEsea L.

Draw the necessary table to find the Standard Deviation for the data 20, 14, 16, 30, 21
and 25.

1 g 100 awengllerer wpw aarsallambhg sweuruiiy e mudle
CaibsR&ESULIBLD @ Tar () SQNOTS GO G)méHs Pawpssey srams.
A number is selected at random from integers 1 to 100. Find the probability that it is
not a perfect cube. ’

(21) 2 = (VB+1)x+J3=0 eTenn SLMUTN_®L cuirEsL] LirEd wpenmulde
E&s.
36060 G
(=) @@ edaefLpn smrsCarasden Qeuaf UTD LOMID 261 =y

papGu 4.2 Qs 8. womw 2.1 Q& 8. eraflé misen Qwrss Upuurimus
ST TS,

(il:] S()I.V{' lh(.‘ uqual‘.‘inn .1-2 - {ﬁ + ]} Y + ﬁ — {] hy i“ﬂn"lplt‘l'll.n!; th.'-.' ."iLluL'ITL‘ t‘l'lt‘lhlld.

OR
(b)  Find the total surface area of a hollow hemisphe

) re whose outer and inner radii
are 4.2 cm and 2.1 ¢m respectively.

[ Amiiys / Turn over
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ey - 111/SECTION - 111

(LHLQuETSET : 45) / (Marks : 45)

&BIOY : () Qemeumueeusafic eGsEUD 9 Aarés@nsS cfanwelibsayn. HG=45

(i) ofemm eramr 45 -4@ SEWiGUUTS aﬂml—ll—llefﬂm?@“b- C A
1 slemssalc\mpg 8 eNMMEEDETS Ggirey GlFwIwLIaLD.

Note : (i)  Answer 9 questions.

i ' the first
(i) Question number 45 is compulsory. Select any 8 questions from
14 questions.

31. @@ awrlemad feewd 190 wramauisaliLb HHeuTseT Sy @enauien

aumssmag Siorallss gm sansds@uy prsdug. 114 Gu @'-'3959.‘5?]‘.“
@asepwyd, 50 Cuir Hyrdu Gesamwub, 41 Gui SIHTLS @mg@w.um.
14 Guir Cupssdu @asowuyd Hrrblu Gersowwbd, 15 Guir Gopassu
Gewsdwwb &THETLS Gasmwwb, 11 Gui &THILS @asamwyd Srmbluw
@evserwud whmb 5 Cuir Gepeary Gamsowub EHbUSapent Tens
sans0s@Ule QeaeliulLg. @sssuasad®mbs YeamaumauaeauDans

ST VTS
(1) epenmy euens Qevsenwyd eSimbung wremeuiseafien erananiisms.
(<) @B cuens Gevgenw LI_H N(HLUWD WwrTaTaUTSHatlen orwmeanileHens.

(@) drrdlw  Geseow aY@HwE CupssHw

@Qesamw  (HLUTS
rewreuigetlen eranTenldHens

A radio station surveyed 190 students to determine the types of music they liked. The
survey revealed that 114 liked rock music, 50 liked folk music and 41 liked classical
music, 14 liked rock music and folk music, 15 liked rock music and classical music,
11 liked classical music and folk music, 5 liked all the three types of music.

Find :
(a) how many did not like any of the 3 types ?
(b) how many liked any two types only ?

(c) how many liked folk music but not rock music ?



32

33.

34.

35.

36.

sy [ [~7, 6) = R Spsaaureum rausmqu_}g}jésa;uuL@ o _GTETS).
SHR ) Lp !

[x3+2.1'+1 v —7<x<-=5
flx)={x+5 . —5<xs2

r -1 : 2<x<6b

Yeneumeuaraupenns STs.

(<) f(=7)-f(-3) (<) £(-6) - 3f(1)

A function f: [-7,6) = Ris defined as follows

a2+l -7Sx<=0
f(l’]= T4+ 5 : -5<y<2

FI -1 : 2<€xy<0D
| ) ) 4f(-3) + 2f(9)
find :(a) A(-7)—f(-3) () f(-6) = 3(1)

o sl (s0sTir aflosls 055058 ey 2 muLsellar smbhiga 18
pHpb Bdapuysala aféshsafar bz 140 Grafle), <Sepem
TS SIS

Find the three consecutive terms in an A.P. whose sum is 18 and the sum of their
squares is 140.

Bese wepular 1 3(2x+y)=7xy; 3(x+3y)=1lxy
Solve 3(2x +y)=7xy; 3(x+3y)=1lxy using elimination method.

UGHESD (PADAPALD CUTES APALD SIS
442522 = 12x - 24x3 + 16x*
Find the square root of the polynomial 4 +25x2 = 12x — 24x3 + 16x* by division method.

Qran® Wens eramaetlan curssmsaiean eflgdlwunsb 45. AMw erameanflen curasid
g, Quilu eaneaflean prang wL kDG sow aalld, Hubs TaTEMmaTS
ST G

The difference of the squares of two positive numbers is 45. The square of the smaller
number is four times the larger number. Find the numbers.

7973

[ éﬂ@tlu&» / Turn over
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37.

38.

39.

40.

41.

10

5
A=[ 2
1

o
=]

A 2 -1
I A= [? 3} and B=( L ]verify that (AB)T =BTAT.

(‘:?.’ (=3, —6), (4, —1) wHmb (1, 2) 2 FlweumenD @maﬂ&;sﬁﬁ&ié& Q& memL
BID&ETSET LylLeTenes STers.

Flind the area of the quadrilateral whose vertices are (—3, 4), (=5, —6). (4 —1) and
).

@ Ww&Caramd ABC -an usshisaflen ewwiiyarenser peopGu DE, 1), E@B,
9) wpmib F(6,7) erafler, wa&Caramsdan waarsamerd HTTS.

The mid points D, E, F of the sides of a triangle ABC are (3, 4), (8, 9) and (6, 7)
respectively. Find the vertices of the triangle.

R ST LYeurang) samarti L §HmE G 20 0.5, 2w ooterg).
samgen SHLLEGS sane wlLsSne ECip 2 dreng). sTHY eiad Curg) SETE
garerUUl (), sTwerl Yeurang Sa@mga oprou Hlevaulladmbg 40 Q&5
sIrsde samateors QsThdng. @ rbu Hawwls sarafi ol LsHDEs SCiy
o _GTGT SETiq 6 Hemid Hreus.

A lotus is 20 cm above the water surface in a pond and its stem is partly below the

water surface. As the wind blew, the stem is pushed aside so that the lotus touched the

water 40 cm away from the original position of the stem. How much of the stem was
below the water surface originally ?

om Garyrsdlar iquidehy adiupwda @n slyLsdan 2 §8é
ghuBssL gonsCarand 30°. sLgLsdlar dquildmrs Coryrsd e
o &85 gHuBSHD gnnsbararo 60° Garyrsden e wgn 50 8 erafle,
HU gL G&lar 2 WD eremen ?

The angle of elevation of the top of a building from the foot of the tower is 30° and the

angle of clevation of the top uf the tlowor frpm the foot of the building 1s 60°. If the
tower is 50 m high, find the height of the building,



42.

43.

44.

45,

11

: ' 315, GG,
S, S o Haanlen 7 wHmD 2 WS sH5® 37 Q&..8. erens. LG

. S X Genl DTS
Sipan Qurss ypluyly 1628 .Qs.5. erafle, amm@mmuﬂm &
ST,

: i ' ' is 37 cm. If
The sum of the base radius and the height of a right circular solid E;Eiirje cylinder.
the total surface area of the cylinder is 1628 sq.cm, then find the vo

- 2 ® .
em yarefl eleurs QsrEudea Zx=35 n=5, 3(x-9)2=82 erafl®, Zx° wWOHHLO

S(x - ¥ S Buainmns STENS.

5 2=82, then find Xx? and %(x - f)z-
For a collection of data if $x=35, n=5, Z(x-9)*=28Z, then

@m usaLsa gCr Crrade Gsr e@mLLluuBn Gurg é\fm_éa@d:- @5
aramsetien sm(RH 3 -2 WHMID 4 - D UGULTLO(HES BENEH| TS,

Two dice are rolled simultaneously. Find the probability that the sum of the numbers
on the faces is neither divisible by 3 nor by 4.

(@) 6 QumsEs QsrLfar Wsa 2 muy 375 LHMIL 4 -Beus LIy 192
aefld, sisen Gung aflssmsd, wse 14 epuyselan sa(Hmaud

ST

S|V

() 4 8. AL pd, 10 8. 2w 2.6er e meer augeud OFTigufgyeran
samatyrang 10 Qa.8. el _pdrer @ e (mener quigeu Gymi afiGw
wallé@ 25 8.15. CaussHa QeualiCuppiiu@dng. Ggm guid urglwierey
samatis QeueliGuimLuL @b Corsmss srans. (<prou Blencuiie
ABTLy QgD semeri Hriuliul Gererg crand Qarers.)

(@)  The first term of a geometric series is 375 and the fourth term is 192. Find the
common ratio and the sum of the first 14 terms.

OR

Water in a cylindrical tank of diameter 4 m and height 10 m is released through
a cylindrical pipe of diameter 10 cm at the rate

“Yu of 2.5 km/hr. How much time
will it take to empty the half of the tank ? (Assume that the tank is full of water
to begin with)

(b)

7973
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9\fley - IV/SECTION - IV
(wduCuemser : 20) / (Marks : 20)

&Y : palaung damalgp oo Grem@ wrpn amssadlGbE
P dlamemas CarrOsss DM elamssEns@Ld flenLwefl&&ayLw
Note : Answer both the questions choosing cither of the alternatives. 2x10=20

46. (=) 3 Qe.8. gyyeperer el Lsan dwwsHdmps 9 G815 Qgrenealled @

yetaflenws @hlas. eniyarellelmbg il LsHDE S AprHCaTBET
UMTHG). MGe Bartusenars Gansd(Hs.
360608
(<) PQ=4 Qs.8., QR=6 Gs.8., PR = 7.5 Qa.8. wpmb Q=7 @ 5. Hemeyse
CarawtL eul L prpsyn PQRS cuenys

(a) Take a point which is 9 cm away from the centre of a circle of radius 3 cm, and
draw two tangents to the circle from that point and calculate their lengths.

OR
(b) Construct a cyclic quadrilateral PQRS with PQ =4 ¢m, QR=6 cm, PR=75cm,
Q5=7 cm.

47. (&) y= x2+3x+2-60 UENTULLD QUENTSH. BensL vwauB &S 1w+ 21 +4=0
cTenp SweatuTl el SréseyL.
JESVEME
(<=4) @ Lt ureler afleney T 15 erens. LUTedl el SeTeY&HELWD. cSenaus @ LD
2 eer QarLiGemans ST UMIULLD UETS. SN pweatuH s,
() elflssw wrhdleows srams.
(i) 3 Al ureilen ellenaews STES.
(a) Draw the graph of y=x2+3x+2 and use it to solve the equation v+ +4=0.
OR
(b) The cost of milk per litre is T 15. Draw the graph for the relation between the
quantity and cost. Hence find -
(i)  the proportionality constant.
(if)  the cost of 3 litres of milk.

~-0Qo-



